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q Topics:

Circles- 3 questions

Analytic Geometry SBM 1 Review Guide

Proportions/Triangle Midsegment- 2 questions
Right Triangle Trig- 4 questions
Triangle Congruency- 2 questions

Radicals/Polynomials- 8 questions

Factoring- 6 questionS

List all of the lines/segments that intersect the circle
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Find the measure of the indicated angle to the nearest degree.
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Find the value of each trigonometric ratio.
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Solve for x.
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Find the missing side. Round to the nearest tenth.
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Find the missing length indicated.
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. Factor each completely.
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Name the type of Quadratic Expression (PST or DOTS) and Factor each completely.
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State if the two triangles are congruent. If they are, state how you know.
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Simplify each expression.
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